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QUESTION 1

All regenerate user data and parity data RAID system failure occurred on the disk (regeneration) process is called
copyback, not all storage arrays (industry) are supported copyback. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 2

Master Boot Record (MBR) partition supports a maximum volume of 2 PB. 

A. True 

B. False 

Correct Answer: B 

 

 

QUESTION 3

Fibre Channel arbitrated loop topology hub used, many devices can be connected together to form a logical ring, and
can bypass the failed node node on the ring so that the fault does not affect the entire communication loop. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 4

Application Server using iSCSI protocol to connect storage devices, which the adapter can be used? (Choose three) 

A. Ethernet cards 

B. iSCSI-HBA card 

C. TOE NIC 

D. FC-HBA card 

Correct Answer: ABC 
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QUESTION 5

In RAID technology, RAID parity algorithm commonly used checksum algorithm is XOR XOR algorithm. 

A. True 

B. False 

Correct Answer: A 
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